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D 5 + 9.6 = ™ 9 + 2.4 =
® 9.4 + 6 = ® 5.4 + 9 =
® 4 + 9.4 = ® 7 + 9.7 =
@ 2.7 + 8§ = 4 + 7.7 =
® 6 + 5.3 = ® 8 + 5.5 =
® 8.9 + 8 = 2 + 8.3 -
@ 9.7 + 9 = ® 6 + 8.8 =
® 7 + 9.2 = ® 9.1 + 5 =
©® 2 + 9.7 = 3 + 7.4 =
® 8 + 9.9 = @ 7.2 + 3 =
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® 8.4 + 9 = @ 2 + 8.2 =
® 4 + 7.3 = ® 3 + 9.4 =
® 5 + 7.2 = ® 8 + 8.7 =
@ 9.1 + 1 = 6 + 6.1 =
® 2.3 + 9 = ® 2 + 8.7 =
® 7 + 5.9 = 56 + 8§ =
@ 8 + 9.5 = @ 9 + 4.1 =
3 + 9.8 = 3.4 + 7 =
© 4 + 6.9 = 8.9 + 6 =
9 + 9.5 = 9 + 3.4 =
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® 6 4+ 6.2 = @ 5.8 + 7 =
® 8.6 + 2 = ® 6 + 9.5 =
® 7.7 + 9 = ® 4.4 + 8§ =
@ 9 + 2.9 = S + 96 =
® 6 4+ 8.1 = ® 7.4 + 5 =
® 3.3 + 7 = 9.8 + 9 -
@ 8.9 + 7 = @ 54 + 6 =
7 + 3.6 = 7T + 9.4 =
© 8.1 + 4 = 9 + 8.4 =

©® 9.5 + 3 @ 5.7 + 9 =

Mg :11-20 X—Y:3/10



N E

<
FUENYDOH B ELE [2]

KOHEELEL L3,

® 6.6 + 8

@ 8.2 + 8

® 7 + 4.2

@ 9 + 2.6

® 2 + 9.3

® 5 + 8.8

@ 8 + 2.3

® 7.8 + 8
©® 9.8 + 2
5 + 6.3

@ 6.5 + 7 =

@ 8 + 4.2 =

@ 7 + 8.8 =

@ 9.8 + 4 =

® 5 + 6.1 =

® 4.6 + 7 =

@ 6 + 9.2 =

® 8.8 + 2 =
©® 9 + 7.2 =
@ 7 + 8.5 =
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@ 8.5 + 5

@ 1 + 9.7

® 9 + 4.9

@ 7 + 3.1

® 2.8 + 9

® 8 + 8.6

@ 9.8 + 3

7 4+ 4.9

© 2 + 9.4

g8 + 7.9

@ 9.1 + 4

@ 7.8 + 3 =

@ 5 + 5.5 =

@ 4 + 8.7 =
® 9.7 + 6 =
® 4 + 7.9 =

@ 8 + 5.3 =

® 9.5 + 6 =
©® 4.2 + 8 =
6 + 6.3 =
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® 8 + 3.1 = ® 5 + 7.7 =
® 9 + 3.3 = ® 3.2 + 9 =
® 7 + 7.8 = ® 9 + 5.5 =
@68+ 7 = 7.6 + T =
® 8.4 + 4 = ® 8 + 6.5 =

® 4 + 9.7 = ® 7 + 3.8 =
@ 2 4+ 8.4 = @ 9 + 3.1 =
® 7.6 + 5 = ® 7.6 + 4 =
@ 9.5 + 4 = ® 3.7 + 8 =
® 6.9 + 6 = @ 8 + 3.6 =
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® 6.3 + 4 = @ 3 + 9.1 =
@ 9 + 1.6 = ® 9 + 2.3 =
® 6 + 7.5 = ® 5.7 + 6 =
@ 8.3 + 5 = 6 + 4.9 =
® 9.4 + 1 = ® 8.5 + 4 =
® 7 + 6.4 = 1.4 + 9 =
@ 3 + 7.5 = @ 3 + 9.3 =
8.7 + 8 = 9.3 + 3 =
© 7 + 6.1 = 5.2 + 7 =
2 + 9.8 = 6 + 8.9 =
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® 8.5 + 9 = @ 7 + 7.9 =
® 4.4 + 9 = ® 3.4 + 9 =
® 7.9 + 9 = ® 9.3 + 2 =
@ 2 4+ 9.9 = 8 + 7.7 =
® 1.8 + 9 = ® 6.1 + 7 =
® 3 + 8.5 = 4 + 8.4 =
@ 9 + 5.4 = @ 7.5 + 7 =
5.2 + 9 = 8.7 + 3 =
® 6 + 5.2 = 6.1 + 5 =
4.5 + 7 = 7.2 + 6 =
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© 4 + 9.3 = ® 6.8 + 4 =
@ 1 + 94 = ® 3 + 9.9 =
® 9 + 5.9 = ® 9 + 1.3 =
@ 8 + 7.6 = @ 5.5 + 8 =
® 5.5 + 7 = ® 6 + 4.5 =
® 7 + 9.9 = ® 4 + 8.1 =
@ 4.1 + 7 = @ 7 + 4.8 =
® 9.6 + 1 = ® 9.5 + 7 =
© 5 + 9.3 = ® 8.2 + 9 =
© 8 + 9.7 = @ 7.1 + 7 =
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® 2 + 8.6 = @ 5.3 + 8 =
® 9.3 + 6 = ® 6.5 + 6 =
@ 8 + 3.7 = ® 7.4 + 6 =
@ 6.3 + 7 = @ 9 + 7.4 =
® 4 + 8.5 = ® 8.1 + 5 =
® 3.3 + 9 = ® 5 + 6.7 =
@ 2.1 + 9 = @ 6 + 7.6 =
® 9.4 + 9 = ® 4 + 6.5 =
® 1 + 9.5 = ® 3 + 8.2 =
® 8.8 + 9 = @ 9.7 + 7 =

M@:11-20 X—=:10/10



